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SUMMATIVE ASSESSMENT - TERM 3
ENGLISH - 2023-2024

CLASS 2
NAME : TIME : 2 hours
SECTION : MARKS : 60
1. Write the missing letters. 3x2=6
a. b.
or e ca ro ar er
2. Match the following. 3x2=6
a. pig shed
b. cow coop
c. hen sty
3. Circle and write the odd one. 3x2=6
a. down crown spoon town
b. lead proud cloud loud
c. toil tail coil boil
4. Choose and write the correct answer. 3x2=6
a. Honey is
b. Achilliis
c. Alemon is
3x2=6

5. Choose and write the correct answer.

a. This is Ravi.
b. This is a monkey.

c. This is Sudha.

has a bag. (She / He)
has a banana. (He / It)

has a book. (She / He)
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6. Read and tick (v) the correct answer.

299 @,:"? D The boy sings a song.

a. G
%@ [:] The boy swims in the pond.

D Kavi eats a watermelon.

D Kavi drinks water.

7. Choose and write the correct answer.

a. Raja cleans his every day. (loud / house)
b. Anitha can cook her . (food / book)
c. Kadhir can play the . (flute / mute)

8. Read aloud.
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a. He is a tailor. He stitches clothes. He works in a tailor shop.

b. She is a pilot. She flies an aeroplane. It flies in the sky.

9. Read the following and answer the questions.

Sam and Tom are ants. They are friends. They go out and play
and down on the see - saw. Sam comes down and Tom goes up int
in the tree. The apple falls down. Tom falls down too. Sam runs

Choose and write the correct answer.
a. Where do Sam and Tom play?

3x2=6

O I paint the wall.

Olreadabook.
3x2=6
2x3=6
3x2=6

on a see — saw. They go up
he air. Tom sits on an apple
to Tom. They eat the apple.

i Sam and Tom play on a swing.
ii. Sam and Tom play on a see - Saw.
i Sam and Tom play on a slide.

b. Who sits on the apple?

i, Tom sits on the apple.
ii. Sam sits on the apple.
iii. Both Sam and Tom sit on the apple.

c. Which one is the correct sentence?

i.  Sam goes up in the air.
ii. Tom goes up in the air.

i Both Sam and Tom go up in the air.

10. Choose and write the correct answer.

a. The Sun gives us

b. We can see the at night.

c. In the night, the sky is
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